Raspberry Pi Adaptor Assembly

The mounting holes on the Raspberry are sligthly smaller than the
screws. Use one of the screws to make it bigger by screwing it in
and then out of the board.

Place the 3 plates together R1, R2, R3, R4, R5, R6 and R7 with the M3 Hex Nut
Raspberry Pi, as shown in the picture. //

Fasten with the screws and nuts.

2 Raspberry Pi

/ \ |
|
M3 15 mm Screws \ = M320mm Screws

Mounting of the adaptor

Place the adaptor on top of the top
module and slide it forward until it’s
firmly attached.




Raspberry Pi Adaptor Parts

R1 R3
(o o ]
o o
RO R4

Screws and Nuts

2 M3 15 mm Screws and Nuts.
2 M3 20 mm Screws and Nuts.

R5




